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KVS PRT General English Memory
Based Questions

Q1. Choose the correct antonym of the given word
QUARREL

(a) Discord

(b) Difference

(c) Agreement

(d) Wrangle

Ans.(c)

Q2. In the sentence identify the segment which
contains the grammatical error.

A new research study has shown that long before
they took up a strict vegetarian diet, the much-
loved pandas was a meat-eater.

(a) has shown

(b) that long before

(c) was a meat-eater

(d) took up

Ans.(c)

Q3. Select the most appropriate option to
substitute the underlined segment in the given
sentence. If there is no need to substitute it, select
NO improvement.

[ think all our furniture needing to be polished.

(a) No improvement.

(b) Needs to be polished.

(c) Are needing to be polished.

(d) Need to polish.

Ans.(b)

Q4. Fill in the blanks with appropriate prepositions.
[ tried ___relieve them _____their misery.

(a) to, with

(b) to, of

(c) by, from

(d) into, with

Ans.(b)

Q5. Find the error

(1) All the disciples / (2) stood up respectively / (3)
as the Guru entered the room. / (4) No error.

()1

(b) 2

(c)3

(d) 4

Ans.(d)

Direction (6-10): A passage is given with 5
questions following it. Read the passage
carefully and choose the best answer to each
question out of the four alternatives.

The long-term trends for flood impact in India have
been one of declining loss of lives and cattle since
the decadal high of 1971-80, but rising absolute
economic losses, though not as a share of GDP. It is
important, therefore, to increase resilience through
planning, especially in cities and towns which are
expanding steadily. Orderly urban development is
critical for sustainability, as the mega flood
disasters in Mumbai and Chennai witnessed in this
century make clear. It is worth pointing out that the
response of State governments to the imperative is
tardy and even indifferent. They are hesitant to act
against encroachment of lake catchments, river
courses and floodplains. The extreme distress in
Chennai, for instance, has not persuaded the State
government against allowing structures such as a
police station being constructed on a lake bed, after
reclassification of land. Granting such permissions
is an abdication of responsibility and a violation of
National = Disaster = Management  Authority
Guidelines to prevent urban flooding. As a nation
thatis set to become the most populous in less than
a decade, India must address its crippling cycles of
drought and flood with redoubled vigor. Scientific
hydrology, coupled with the traditional wisdom of
saving water through large innovative structures,
will mitigate floods and help communities prosper.
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Q6. According to the passage, it is important to
increase resilience through planning, especially in
which types of cities and towns?

(a) which are contracting steadily

(b) which are expanding unexpectedly

(c) which are expanding steadily

(d) which are expanding invariably

Ans.(c)

Q7. What has/have been responsible for one of
declining loss of lives and cattle since the decadal
high of 1971-807?

(a) poverty in backward areas of the country

(b) the short-term cyclones and storms

(c) the unexpected arrival of monsoon

(d) the long-term trends for flood impact

Ans.(d)

Q8. “They are hesitant to act against encroachment
of lake catchments, river courses and floodplains”.
Who have been referred to here?

(a) Central government

(b) Ministry of tribal affairs

(c) State governments

(d) National Disaster Management Authority
Ans.(c)

Q9. According to the author of the passage, what
method has been suggested that will mitigate floods
and help communities prosper?

(a) Scientific hydrology, coupled with the
traditional wisdom of saving water through
constructing laboratories

(b) Scientific hydrology, coupled with the
traditional wisdom of saving water through
small innovative structures

(c) Scientific hydrology, coupled with the
traditional wisdom of using water through large
innovative structures

(d) Scientific hydrology, coupled with the
traditional wisdom of saving water through
large innovative structures

Ans.(d)

Q11. How long have you and Ruchi known
?

(a) one another

(b) each other

(c) everyone

(d) None of these

Ans.(b)

Q12.

post.

(a) Neither
(b) No

(c) None
(d) Either
Ans.(c)

of the four candidates are fit for the

Q13. This bag is mine and that is .
(a) of you

(b) your

(c) your’s

(d) you

Ans.(d)

KVS PRT General Hindi Memory
Based Questions

Q1. =t foreeh ferw sga f=ifaa w=a o-
(a) I

(b) =&t

(c) @

(d) =T

Ans.(a)

Q2. 3T ¥ [ashedl § | aga= 9Tk Tl &-
BELIR)

(b) =TT

(c) &rer

(d) &tHT

Ans.(d)

Q3. ST o oot & & H=T 37T AT T 37 STEa
5

Q10. What does the word ‘crippling’ imply? (a) Fo9- Fa
(a) emerging (b) TTET-T8rT
(b) undying
(c) damaging () %,Tr' gﬁ—cr
(d) drifting (d) FTT-TTrAT
Ans.(c) Ans.(d)
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Q4. % & & &I |7 9158 JT |er FT IS &-
(a) TET=
(b) Rrdrer
(c) wigx
(d) 374

Ans.(d)

Q5. TH= AT TATIATHT M3 —
() TH

(b) F9 e

(c) F=X

(d) fae

Ans.(d)

Q6. =TT e = 2 &-
(a) 39T & fag

(b) AT 3T T
GETESERII

(d) FH e faar

Ans.(a)

KVS PRT General Awareness &

Current Affairs Memory Based
Questions

Q1. CNG stands for:

(a) Compressed Natural Gas
(b) Combined Natural Gas
(c) Composed Natural Gas
(d) None of the above
Ans.(d)

Q2. Who received Sahitya Academy Award 2022 for
Hindi literature?

(a) Anuradha Roy

(b) Badri Narayan

(c) Praveen Bandekar

(d) Bhupinder Kaur Preet

Ans.(b)

Q3. Which of the following state has not
enumerated under the sixth schedule intribal areas.

Q4. Which state host 2022 National Games?
(a) Madhya Pradesh

(b) Uttar Pradesh

(c) Gujrat

(d) Tamil Nadu

Ans.(c)

KVS PRT Reasoning Ability Memory
Based Questions

Q1. If 26th December 2022 was a Saturday, then
what day of the week was it on 20th March 20237
(a) Thursday

(b) Friday

(c) Sunday

(d) Monday

Ans.(d)

Q2. In the given figure, how many large bottles are

not blue?

«— Bottles
52

Large —

\_Blue

(a) 37
(b) 15
(c) 152
(d) 89
Ans.(a)

Q3. Ais in the east of B which is in the north of C. if
D is in the south of C, then in which direction of 4, is
D-

(a) North-West

(b) South

(c) North - East

(d) South-West

Ans.(d)

Q4.In alanguage FIFTY is written as CACTY, CAR as
POL, TAR as TOL, How can TARIFF be written in

i that language?
a) Mizoram
Eb)) Sikkim (a) TOEFEL
(c) Meghalaya (b) TOEFDD
(d) Ladakh (c) TOLADD
Ans.(d) (d) TOLACC
. Ans.(d)
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KVS PRT Computer Literacvy Memory
Based Questions

Q1. Find the odd one:
(a) PB

(b) GB

(c)TB

(d) RB

Ans.(d)

Q2. Which is not an Input device:
(a) Scanner

(b) Key-board

(c) Web-Cam

(d) Monitor

Ans.(d)

Q3. Which of the following is not a programming
language

(a) PASCAL

(b) FORTRAN

(c) BASIC

(d) FOREIGN

Ans.(d)

Q4. Which of the following Is an Antivirus?
(a) Trojan Horse

(b) Norton

(c) Tinba

(d) Stuxnet

Ans.(b)

Q5. Full form of CPU:

(a) Central Programming Unit
(b) Central Progressive Unit
(c) Central Processing Unit

(d) Central Processing User
Ans.(c)

KVS PRT Perspectives on Education
and Leadership Memory Based

Questions

Q1. What is the title of Yashpal Committee Report
(1993)?

(a) Learning of development

(b) E-learning

(c) Learning without burden

(d) Learning with burden

Ans.(c)

Q2. Adolescence ends between the ages of
(a) 21 to 25 years

(b) 18 to 21 years

(c)10to 12 years

(d) 16 to 18 years

Ans.(b)

Q3. Assessment for learning -

(a) fosters motivation

(b)is done for the purpose of segregation and
ranking

(c) emphasises the overall importance of grades

(d) is an exclusive and as per assessment activity

Ans.(a)

Q4. ‘Curriculum should be revised periodically
based on research’ - This is the suggestion of

(a) Kothari Commission

(b) NPE-1986

(c) Eswari Bhai Patel Committee

(d) UNESCO Planning Mission of Experts

Ans.(a)

Q5. Proximodistal principle of motor development

means that:

(a) Development tends to proceed from toe to head

(b) It is sequence of biological changes in childhood

(c) Development proceeds from the centre of the
organism to its periphery

(d) Development tends to proceed from head to toe

Ans.(c)

Q6. Understanding human growth and

development empowers a teacher to -

(a) explain people how can improve their lives

(b) conquer the difficulties in creating appropriate
lessons

(c) remain unaffected by their work

(d) all of the above

Ans.(b)

Q7. Which of the following psychologist is known
for the pioneering theory of adolescence?

(a) Thorndike

(b) ].B Watson

(c) G. Stanley Hall

(d) Erik Erickson

Ans.(c)
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Q8. Which of the following is the primary
responsibility of a teacher?

(a) students record

(b) policies implementation

(c) educational strategies

(d) disciplinary classroom

Ans.(c)

Q9. A teacher can encourage creative learners in

her classroom by

(a) emphasizing convergent thinking

(b) discouraging divergent thinking

(c) encouraging multiple  perspectives
appreciating original ideas

(d) discouraging the students from taking risks and
undertaking challenges

Ans.(c)

and

Q10. Which of the following is the first phase of a
lesson plan?

(a) foundation

(b) introduction

(c) clarification

(d) body of new information

Ans.(b)

Q11. Which of the following is not a characteristic
feature of formal assessment?

(a) Varies from case to case

(b) objective

(c) standardized

(d) organised

Ans.(a)

Q12. Dyscalculia is primarily associate with
difficulty in:

(a) reading the text

(b) performing mathematical calculations

(c) critical thinking

(d) communication skills

Ans.(b)

Q13. Which of the following is not a function of
school management?

(a) planning

(b) controlling

(c) assimilating

(d) decision making

Ans.(c)

Q14. RTE Act, 20009 is for the children of which age
group?

(a) 5-12

(b) 12-18

(c) 7-15

(d) 6-14

Ans.(d)

Q15. Which of the following is the main objective of
teacher education?

(a) to develop listening skills

(b) to develop professional skills and values

(c) to provide subject mastery

(d) to prepare for a teaching job

Ans.(b)

Q16. The objective of FLN is to Make learners
competent in doing meaningful reading and writing
by the time they enter grade

(@) 3

(b) 4

(c)5

(d)6

Ans.(a)

KVS PRT EVS Memory Based
Questions

Q1. Amoeba used its pseudopodia to
(a) capture food and do movement
(b) capture food only

(c) to do movement only

(d) none of these

Ans.(a)

Q2. Pitcher plant (Nepenthes):

(a) is not found in India

(b) cleverly traps and eats frogs, insects and mice
(c) emits sounds of high pitch to attract insects

(d) has a mouth covered with tiny hooks
Ans.(b)

Q3. CNG compressed natural gas is mainly
(a) Ethane

(b) Butane

(c) Propane

(d) Methane

Ans.(d)
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Q4. Houses made on bamboo which are made 3 -
3.5 above the ground. These houses are present in

(a) Rajasthan
(b) Assam
(c) Gujarat
(d) Bihar
Ans.(b)

Q5. Which of the following processing methods
involves heating milk at high temperature for short
periods of time?

(a) balancing

(b) Ohmic heating

(c) Irradiation

(d) Pasteurization

Ans.(d)

Q6. Top most layer of soil
(a) subsoil

(b) parent rock

(c) topsoil

(d) bedrock

Ans.(c)

Q7. Which of the following statement is true about

Sunita Williams?

(a) She is the second woman astronaut of Indian
origin

(b) She is the second astronaut of Indian origin

(c) She is the first woman astronaut

(d) She is the first woman astronaut of Indian origin

Ans.(a)

Q8. CNG is better than petrol and diesel
(a) It burns more efficiently

(b) It left unburnt in very little amount
(c) Cheaper

(d) All of these

Ans.(d)

Q9. Which of the following can be used to treat
malaria?

(a) bark of cinchona tree

(b) coriander powder

(c) ajwain seeds

(d) skin of apple

Ans.(a)

Q10. Which type of plants take years to complete
their biological life cycle?

(a) annual plants

(b) biennial plants

(c) perennial plants

(d) nepenthes

Ans.(b)

Q11. Water can be purified by the chemical agent

(a) hydrogen

(b) mercury

(c) acid

(d) potassium permanganate
Ans.(d)

Q12. The process of removal of environment
pollutants by microorganism is known as:

(a) bioremediation

(b) autonomy

(c) pasteurization

(d) none of the above

Ans.(a)

Q13. The intermixing of two separate type of
matter is known as:

(a) matter

(b) diffusion

(c) element

(d) none of the above

Ans.(b)

Q14. Consider the following characteristics of the

houses:

A. Ground floor without windows

B. Slanting wooden roofs made of tree trunks

C. House made almost 10-12 feet above the ground
on stone pillars

D. Thick walls made of stone, mud and lime

E. Wooden floors

Which of the above charcteristics can be found in

the houses of Leh and Ladakh?

(@) A B,C

(b)B,C,D

(c)CD,E

() AD,E

Ans.(d)
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Q15. People who have been living in forests for at
least 25 years have a right over the forest land and
what is grown on it. This act is derived from?

(a) Right to Forest Act, 2007

(b) Indian Forest Act, 1927

(c) National Forest, 1988

(d) Indian Forest Amendment Act, 2019

Ans.(a)

KVS PRT Maths Memory Based
Questions

Q1.1,2,2,3,5,8,13,21,34,.....,......-
(a) 34,56

(b) 55,89

(c) 34,89

(d) 67,89

Ans.(b)

Q2. What number should be added with 34 to make
its reciprocal-

(a) 2/45

(b)7/12

(c)5/34

(d) 8/12

Ans.(b)

Q3. A person sold a stove for Rs.423 and incurred a
loss of 6%, at what price would it be sold so as to
earn a profit of 8%?

(a) Rs 525

(b) Rs 500

(c) Rs600

(d) Rs486

Ans.(d)

Q4. Find the smallest of the following fractions-
(a) 9/43

(b)6/57

(c) 2/45

(d) 3/67

Ans.(a)

Q5. Find the largest of the following fractions-
() 17/23

(b) 27/23

(c)47/53

(d) 22/78

Ans.(c)
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